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Q BLVZEL TS, 455Q.—CEZH:559-$E-§-63 40 TRAIX I am going to find a number and the money in hand of the thing to buy than a
1 O@-Aé Eo=t D DT ? TR EILLIKEH, sentence.
A Bor-tODHF3ID HIRIZ1304 Lam 5™ short when Ibuy it at 457,
= — — ~ o~ eave over when I buy 1t a :
1 O@kS@’E_/\:L—CE ':IE<° i '“435@75\‘940% 5 l}'\f‘b§§ % I can make the following expressions with the number of things to buy as x.
[X58(45—40=5), cCNTHEZIEI TS E2-L DDA H S, 45x% — 5=40x+10
(15 — 5 —3) EQT*%O)O)‘;;&(3)/\40§Q,75\H”ClZO@t?’J%MO X 3= 120) It becomes x=3 when I solve this.
= A When I substitute x=3 for 456x—5 or 40x+10,1t becomes 130™°™""€ together.
_1nIZ 1053-3]” ; —g ;?%53)&0) d;j?( (31)3(\)2;275\ ;lj(_)c)l:%sﬁtf& . (45 X 3=135) Therefore, I understand the number of things to buy three and the money in hand
~ - 130m0nme.
E7iY) 559 5|0vTEIS(135—5=130) - Elucidation with the abacus
1% - B3 I put the number that add 10™°™"€ to 5MOMMe tg the right.
. EF I put the number that subtract 40™°""€ from 45M°""€ to the left.

When I divide 15™°"Me€ Ly 5monme ' T ynderstand the number of things to buy three.
4pmonme  multiplied by three 1s 120™M°"M€ and add 10™°"M€ to 120™M°"M€ g

130m0nme.
. - g5monme multiply by three 135™°""€  and subtract 5™°""€ from 135M°"M"€ jg
130m0nme.
9&013 0 Therefore, I understand the number of things to buy three and the money in hand
130m0nme.
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Now, there are something to buy, If 1 buy an item of 45™°"me
I need 5™°"™¢ more If I buyitof 40™¢, it s left 10™o"™me
How many it should I buy, and How much money doI need? T &/
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I should three items, and I need 130™¢ . . SBFR IR o
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I move to the rlght counter of 15™Monme 5 an abacus. [ era In the Warrlng States perlod and mOdeI'n timeS]
I move to the left counter of 5™°"¢ on an abacus. - R, H ARG DO L
[ divide right with left, it becomes 3monme LRI AR EITRE L. FNHD L % (2 s &
I multiply it by 40™°"m¢ is 120™¢. And I add 10™°™"™¢ to it, and HM25+HE1508 (K56 2kg) DOFEAHEH
I get 130™ [ - characteristic  Ikuno is one of the best known silver mine
And I multiply 3 by 45mo"me ;g 135monme. And I subtract 135 in Japan. In Edo period ]
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Right surplus and deficiency sun up figure are found to different : 1705 ﬁ].F I UJJ . b 7 WJ:HA ROILIL ;c HAE
[ - history in 807,it said that silver was discovered.

between most expensive and lowest price. And I subtract most

expensive price from lowest price are different of an item price. For In 1705,lkuno was designated for the best mine which was said
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